Friday 26.06.2020
Arithmetic
1. 
2. 8,974 + 100 =
3. 274 + 347 =
4. 2,807 – 2,089 = 
5.  6 x 5 x 10 =
6.  3.9 + 7.2 =
7.  656 ÷ 8 =
8.  of 88 =
9. 10 x ___ = 27
10.  6 x 3 =
11. 9 x  9 =
 Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!)
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Which one is the odd one out? Prove it!

The children have solved a problem. Read their answers. Explain who is incorrect and why.

There are 4 children at a party. Each whole sandwich is cut into 4 parts. The children eat 42 parts altogether.

How many whole sandwiches did they eat?
N diol W

They ate 11 whole sandwiches.
RN
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When representing a fraction
greater than 1, the numerator
and denominator still have
the most important job of
telling you how many pieces
to represent and how many
total equal pieces are in each
whole.

There are 5 thirds shaded in. One
whole rectangle is shaded
the other rectangle is als
Therefore, 1 # is shown above.
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1) Complete the table

There are __ sixth altogether

sixths = whole and __ sixths

There are __ quarters altogether.

quarters =

whole ones and __ quarters

9 thirds

There are __ thirds altogether.

whole ones

nd __ thirds
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2) Complete the sentences to match the image.

fifths altogether.
wholes and | |fifths
3) Complete the calculations. You can draw part-whole models to help you.
26 _20 L1 _ . _ L1 _
10710 * 10 - 20 = 2 7%





